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Math worksheet on '‘Complex Numbers - Exponential
to Polar Form (Radians) (Level 1)'. Part of a broader

unit on 'Complex Numbers'

Learn online: app.mobius.academy/math/units/complex numbers/

2 Find the polar form in radians
of this complex number that is
in exponential form

#2(603(1.6# rad) +

&8(cos(0.27r rad) +

5 . 761 371-?/ 297c08( Wrad)+z

&7(005(0.1# rad) + -

FO.S(cos(O.Sﬂ' rad) +1i-

4 Find the polar form in radians
of this complex number that is
in exponential form

1
gcos(1§7r rad) + -

1
Qcos(liw rad) +

i&cos(o 27 rad) +

7 8¢ 0372 g,

?8(005(0.3# rad) + i -

IZ(cos(O.lﬂ' rad) +1i -

6 Find the polar form in radians
of this complex number that is
in exponential form

!ﬁcos(l 8m rad) +1 -

5.861 BTl o

#l(cos(l.STr rad) + -

f 11
4(cos(1ﬁ7r rad) +1i-
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?7(005(1.3# rad) +1i -

%(cos(l.&r rad) + i -

R(cos(l.STr rad) + i -

i+ sin(1.6m rad))

sin(1.37 rad))

i+ 5in(0.27 rad))

sm(%w rad))
sin(0.17 rad))

sin(0.3m rad))

sin(l%ﬂ' rad))

1
i sin(liﬂ rad))

i+ sin(0.27 rad))

- sin(27 rad))
sin(0.37 rad))

sin(0.17 rad))

sin(1.8 rad))
sin(1.87 rad))
sin(1.87 rad))
i - sin(1.97 rad))
sin(1.87 rad))

11
sin(1 187 rad))

Name:

1 Findthe polar form in radians
of this complex number that is
in exponential form

g4(cos(0.37r rad) + -

P8(cos(1£8ﬂ rad) + i -

5in(0.37 rad))

sin(15—87r rad))

ﬁ 7(cos(0.37 rad) + i - sin(0.37 rad))

5 7e 0.872 g, 00,

&3(005(0.37r rad) +i-

; - 5in(0.87 rad))

sin(0.37 rad))

;(cos(O.Sw rad) + i - sin(0.57 rad))

3 Find the polar form in radians
of this complex number that is
in exponential form

?1(603(1.97!‘ rad) +1-

p{?(cos(l.%r rad) +1i-

sin(1.97 rad))

sin(1.27 rad))

&COS(1§7T rad) +1 - sin(lgﬂ rad))

6

5 N 86 1 . 271-?/ gl(cos(o.lw rad) +i -

i+ sin(1.87 rad))

#1(005(1.8# rad) +

g.3(cos(1.77r rad) +

5 Findthe polar form in radians
of this complex number that is
in exponential form

) EQ(COS(2W rad) +

F.S(cos(l.87r rad) +i-

7 Find the polar form in radians
of this complex number that is

in exponential form
t!.)4(cos(0.27r rad) +

ﬁ?) (cos(0.17 rad) +1i -

5 . 760 371-?/ g(cos(02ﬂrad)+z

ﬁ(cos(0.27r rad) +

'7.2(003(0.37r rad) +1i-

E7(cos(1.77r rad) +1i-

&9(003(2# rad) + i -

%(cos(OBw rad) +i-

sin(0.1m rad))

i+ sin(1.77 rad))

sin(1.77 rad))

sin(2m rad))

i+ sin(2m rad))

3 . 66 1 . 771-?/ g(cos(l.?w rad) + i -

?8(005(1.9# rad) +1-

sin(1.7m rad))

sin(1.97 rad))

sin(1.87 rad))

sin(0.37 rad))

i+ sin(0.27 rad))

sin(0.17 rad))

sin(0.2m rad))

i+ sin(0.27 rad))

sin(0.37 rad))
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